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What does fib(6) return?
What does fib(1) return?

What does fib(9) return?

/7 8 9 10 11 ..
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If the Fibonacci number is in position 1 or 2,
It Is one
Otherwise
It is the sum of two previous Fibonacci numbers



System.out.println(fib(5));

fib(5)
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public int fib (int n) {
if (n==1 || n == 2)
return 1;
else
return fib (n - 1) + fib (n - 2);
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public int fib (int n) {
if (n==1 || n==2)
return 1;
else
return fib (n - 1) + fib (n - 2);
}
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public int fib (int n) {
. . if (n==1 || n == 2)
flb(Z) + flb(l) return 1;
else
return fib (n - 1) + fib (n - 2);
}
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2 public int fib (int n) {
. . if (n==1 || n == 2)
flb(Z) + flb(l) return 1;
1 1 else
+ return fib (n - 1) + fib (n - 2);

}
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2 + 1
2 public int fib (int n) {
. . if (n==1 ]| n==2)
fib(2) + fib(1) " return 1;
1 1 else
+ return fib (n - 1) + fib (n - 2);

}
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